[image: image1.png]If there is any chance of linking human hehavior, expressed in
the price swings of stocks and commodities, with Nature's Law ex-
pressed in the nautilus shell, the logarithmic spiral should be the
closest solution. Any point on the spiral represents the optimum price-
time relationship.

The most challenging part of the spiral is to see it work in ex-
treme market situations, when behavioral patterns are strongest. The
stock market crash in October 1987 is such an example. While every
other method of analysis seems to fail, the correct spiral isolates the
bottom of the move precisely (see Figure 9-2)

With the center of the spiral at point B and the starting point atA,
the spiral was penetrated by the S&P price at point . It will be shown
later that points A and B are very definitive and could have been se-
lected by any investor using the rules explained in this chapter.

THE CONCEPT OF THE SPIRAL

The spiral is easy to understand and conceptually simple to apply to the
markets. But, because it identifies turning points, the trading signals
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Figure 9-2 Weekly S&P chart from 01-86 to 11-88. The price target was
reached at point C with center of the spiral at point B and the starting point at
point A. (Source: Robert Fischer Research, Chicago.)




[image: image2.png]SPIRAL EQUATION AND
COMPUTER PROGRAM

After the seminars, the Logarithmic Spiral was fully computer-
ized. For investors who are interested in the equation, the following
formulas give the necessary details:

Basic Spiral Equation

For two radii

When r; and r; are separated by

Where
5

From the above relations, we have
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For investors who want to computerize the spiral, the following seg-
ment out of our computer program will make it casy to work.

Plot ccw Log spiral subroutine
13280

15290

13300 ‘sPIRAL

“calculate constant CON using natural Log and BHT = (sqrt (5) +11/2
‘and P = 3.141593
13320 con= 24106 (1/pH1) /51

£ind aistance RO between center point (PIX, PLY) and
starting poine (2, 22¥) on spiral

13370 Dx=pax - pix

13380 DY = P2y - 1Y

13350 5O = SQR(DX*DX + DY4DY)

13391 IF R0 = 0 THEN RETURN

£ind starting angle AO that places RO in the correct quadrant
13352 1FDX< > 06070 13400

1339 17DY<0THENAO = —1/2

13396 17 DY > 0 THEN A0 = 7I/2

13398 GoTO 13420

13400 0= AT (DY/DK)

13010 17 DX< O THEN A0 = A0 + 7T

‘A is the angle chat will get incremented for each new point
"By an incrament SPINC (=.05, for exanple) until RHAX 1s reached
" (the Largest spiral radius you want to calculate)
‘Little short 1ines are drawn between points (TPIX, TP1Y) and
(TB2X, TP2Y) to form the spiral
“DIR 15 = ~1 or +1 depending on uhether you want a clockise
“spiral o a counterclockmise spiral.

13620 a=0

13430 Te1x= 2% : TRIY = p2¥

*100p to calculate and plot each 1ictle Line segnent on the spiral
13440 A=A+ sPINC

13450 &= RorEXP (CONA)

13460 IF R > RAX THEN RETURN

13470 TA = ATDIR + 20

13480 TB2X = RACOS(TA) + PLX : TP2Y = RASIN(TA) + P1Y

13450  LINE (TPLX, TRLY) - (TE2K, TF2Y)

13500 TPIX = TP2K : TRLY = TR2Y

13510 GOTO 13440




